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The ratio of length to the breadth of a rectangle is 15 : 8. If a man walking at a speed of

8.5 km/hr crosses the rectangular field diagonally in 2 hours. Find the area of the

rectangle ?

Ueh 3T & odrg IR diSs d1 Aguid 15: 8 &l Ifg 8.5 ferali/ger & aifd & ol aren
Uh ITth MIAIPR A Bl 2 ¢ A 960l FT I UR HIdl §| 39 T &9%d ATd
oI ?

(i:"’"ﬁ A.120 km?
8 E2 7 B.135 km?

C.150 km?
D.108 km?
E.115 km?




18.02 - (? - 19.01) + (10.98)* = 120.04

A.41
B.38
C.35
D.43
E.31



[(1279.98)° + 32.23 x 23.94] ~ 47.98 = ?°

A.120
B.96
C.150
D.84
E.160



14.95 X 34.95 ~ 6.97 + 59.60% of 299.93 =?

A.235
B.295
C.215
D.255
E.245



30.912-927.98 - 4.95*=1.92 x ? = 11.11

A.32
B.52
C.44
D.48
E.38



2.99 x 63.09 + 73.93 = \3.99 - 120.99 = ?

A.191
B.208
C.215
DA
E.183



Direction: Study the following pie-charts carefully and answer the given question. £
The pie chart given below shows the percentage distribution of different vehicles in two §
different cities.

Note: Both cities have same number of vehicles.

CITY A f T CITY B




The number of car in city B is what percent less than city A?

ITEY B H & hl TEAT IT&X A § Tehd Tfaora & 82

CITYA CITY B

A.9.9%
B.11.11%
C.10%
D.15%
E.18%




What is the ratio of total number of car, scooter and other vehicles in city A to total

number of bike, cycle and other vehicle in city B?

e A § HR, The 3T T TTEHT hl el HEAT IR e B H A1, AR AR 3T
FATEHT chl et |TAT T ATUTA T 52

CITYA CITY B

A.78 : 57
B.57:78
C.67:52
D.52:67
E.50:61




The number of bike, scooter and cycle in city B is need to increases by what

percentage to match the number of bike, scooter and cycle in city A?
e A | T1Zh, ToheX 3T ATgfoheT Y HEAT | U @M o o710 I3 B | 13, Tehed 3R
TTgToRet sht T § R witrera st gfeg Y sTayarehar 82

CITYA CITY B
A.11.11%
B.9.09%
C.16.67%
D.18.88%
E.0%




If the number of vehicles in both the cities is same then find the number of bike in

city B if city A have 240 scooters?
e ST ITE W ATEAT shl HEAT THTH 8, oY IT&X B ¥ STgeh shl HEAT A shifor ATS ITeT
A o UTH 240 TheT 2

CITYA CITY B

A.450
B.500
C.400
D.350
E.300




If the difference of the other vehicles in both the cities is 50 then find the total
number of cars in both the cities?

FfS AT ITERT | 3T ATEAT o ST 50 § AT ST I8 W R hT el HEAT AT hieTar?

CITYA CITY B

A.820
B.950
C.720
D.900
E.880




Two candidates were standing in an election. Of the total number of people on the
electoral roll, 10% did not cast their votes and 600 votes are invalid. The winning

candidate secured 60% of the total votes of the voter list and he won the election by 4200

votes. Find how many voters do cast their votes ?

Ueh JATd H &l SFAIGAR W A| Aderdr Tl H ATHS Sl &HT ol HEAT H F 10% o 3G
are =8l 3Tl AR 600 dic Y §] Siidel diel 3FAIGIR o Aderdl Al & Gl dict Bl 60%
gﬁﬂﬁmaﬂ?mﬁmzoomﬁﬁwsﬁmmzﬁmﬁﬁﬁ%@rmﬂmmmﬁ
?

/—.,—. \/ A.10400
%0 ©% 5/ B.11800

C.10800
D.12800
E.NOT



Study the following Caselet and answer the
following question.

In a city, there are 12000 families using
different telecom companies airtel, jio, and

idea. 28%

Families using only jio is twice the number

of families use only airtel.

of families using only idea. 10% of families
use only jio and idea both, the number of
families using only idea and airtel both are
same as the number of families using all the
three telecom services that are 3%. The
number of families using only airtel and jio
both are half the number of families using

only jio and idea both.
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Study the following Caselet and answer the

following question.

In a city, there are 12000 families using
different telecom companies airtel, jio, and
idea. 28% of families use only airtel.
Families using only jio is twice the number
of families using only idea. 10% of families
use only jio and idea both, the number of
families using only idea and airtel both are
same as the number of families using all the
three telecom services that are 3%. The
number of families using only airtel and jio

both are half the number of families using

only jio and idea both.



If families using only Idea is increased by 30%. what will be the average of families using

only idea and only jio ? .

Ife hael IMSBAT HT SUANT X arel TRART F 30% A ghg SN T Faa 3msfar 3k
hae AT BT 3TN I dTel GRART &1 3T FIT B2

Airtel Jio

\__ > A.3340

& ( \:J//D B.3584
C.4122

v D.3366

Idea E.3954



Which telecom company has maximum number of users?

fepd GIHTN HUAT & SUAIDAISNT T HEAT IHTAhIH &2

Airtel Jio N\

v A. Airtel
B. jio
C. idea
D. Any two are same

Idea E. CND



What is the average number of families using only Airtel and only Jio ?

hdol TILSA 3R haa FAT HT 3TANT Ha drel TRAORT Dl 3Ta I&ar = §2

Airtel Jio

A.2573
C.5400
v DRA10[0]0

Idea E.3720



What is the ratio of families using Idea to the families using Airtel ?

@TWWWWWWWWWWWWW HJUTd
T &2

Airtel Jio

A.16 : 19
& B.11:13

C.14:17
v D.113:114

Idea E.12:19



The number of families using only idea is how much percent more/less than the number

of families using only idea and jio both telecom services ? .

chefel TR &1 3UANTT A drel TRART T HEAT had 1sisar AR f5ar el gqaar qarsit
BT STANT Hld dTd IRART T &1 F Thaa ufaerd 31/ &7

Airtel Jio

0\ A.60%
& A Hm (=) \> B.65%

Idea E.75%



x> —17x+70=0

y:—14y +45=10

A X>Y
B.X<Y
CX2Y
DX <Y
E X=X
or CND



x*—17x+30=0

A X>Y
B.X<Y
CX2Y
DX <Y
E X=X
or CND



2x*-22x+48=0

y2 - 20y + 96

0

A X>Y
B.X<Y
CX2Y
DX <Y
E X=X
or CND



x> +10x+24=0

y’ - 26y

168 =0

A X>Y
B.X<Y
CX2Y
DX <Y
E X=X
or CND



5x2+12x-9=0

6y*-13y-8=0

A X>Y
B.X<Y
CX2Y
DX <Y
E X=X
or CND



The price of sugar is decreased by 25% but in spite of the reduction, P increases his
expenditure on sugar by 20%. what is the percentage change in his monthly consumption @\

of sugar?

AT P PAT A 25% BT HAT 3MS § olfched BT & dTd9lg, P el W ATA @I DI 20% ISl
T &1 3gh ANy Fr AT wua F ufdra aRada = &2

1/ AN A.42%
LRD ) B31%

C.66%
D.60%
E.72%



A is 34 years older than B. Ten years ago, the total of their ages was 48. Their respective

present ages (in years) are ? .

%B©3gaﬁagr%lmwm,mﬁwm%waﬁlmﬁwmm(ﬁ
) FT &2

A.54 and 20
B.60 and 26
C.51and 17/
D.64 and 30
E.NOT




A train 250 meters long crosses an electric box in 25 seconds and crosses another train of @\
the same length traveling in the opposite direction in 20 seconds. What will be the speed

of the second train in km/hr?

250 HIeY oFl Th ¢ Ueh TAYd dfeFd Dl 25 Vehs A UR Al & 3R faudia feom & I
Y TE GHATA 1S H @Y ¢ Bl 20 Vbs A UR &l &. bl ger # gadl ¢ &r afa
T EOf?

\
O
D
o
A\
3
e

i ) ) ) D ) )



5821rs is divided among S, R and G in such a way that if 26rs, 40rs and 17rs be deducted
from their respective share, they have money in the ratio S : 6 : 8. Find G share ?

5821 TUY I S,R3IN G& dg 3@ YR faafad fhar rar & b I 26rs, 40rs 3R 17rs i
3cich AT T&Ed ¥ hICT ST &, df 3elch UM 5: 6: 8 @ 3(Uid H U1 &1 G A Wiai?

A.Rs. 1536
= B.Rs. 1852
S neC RS, 2433
D.Rs. 1456
E.Rs. 1084




Directions: Read the following table carefully and answer the questions given below.
The following table shows the total number of people (men and women) who visited the

zoo on four days, i.e., Sunday, Tuesday, Friday, Saturday and it also shows the percentage

of men who visited the zoo on the above mentioned days.

Percentage of

Day men visited | Total number of
people visited
Sunday 20% 250
Tuesday 35% 100
Friday 75% 120
Saturday 65% 300




Find the difference between the total number of women who visited the zoo on Sunday
and Saturday together and the total number of men who visited the zoo on Tuesday and

Friday together?

faar 3R afdar o v @1y RfESAER &1 a1 Hia arelt A3t & go F&ar 3R
HITTIR 3N APIR I Teh HTY TATSATER &l NI el dTel YUl T ol FEAT b I Pl

AR AT hiiad?
Day & Of men pzc:;:e
visited ..
visited
Sunday 20% 250
Tuesday 35% 100
Friday 75% 120
Saturday 65% 300




The number of men who visited the zoo on Sunday and Tuesday together is
approximately what percent more or less than the number of women who visited the zoo

on Friday and Saturday together?

Faar 3R FATerar o T a1 RBfIER &1 ey wia arel geul &1 FE&ar ehar 3R Afaar
ﬁ?muﬁmwmmmmﬁﬁmﬁwmﬁmﬁqﬁmmm
hH T?

Day % Of men pzc:r?lle
visited | isited L7 N\ A.37% more
Sunday | 20% 250 <\ = ‘-‘/D B. 37% less
Tuesday 35% 100 - C.47% more
Friday 75% 120 D.47% less
Saturday 65% 300 E. NOT



Find the ratio of men who came on Sunday to the total number of men who came on

mﬁmgﬁﬁ%mﬁiawmamﬁwwumgxﬁaﬁw
GEIT Pl HJUTd <A1d ?

Friday and Saturday together ?

% of men Total
P visited | PEOPIE o
visite
Sunday | 20% 250 /A1
Tuesday | 35% 100 C.47:20
Friday 75% 120 D.20: 47
Saturday | 65% 300 E.NOT



What is the average number of women who visited the zoo on Tuesday and Saturday?

HITTAR 3R AaR & RfSIER &1 ESRT wa arell AfSa3n & aa g&ar &7 g7

% of men Total
Day | \isitea | PEOPle A/
visited B.65

Sunday 20% 250
Tuesday 35% 100 C.95
Friday | 75% 120 D.85
Saturday | 65% 300 E.55



Find the total number of women who visited the zoo on Sunday, Friday and Saturday ?

Uaar, qpar 3R AfAaR A RfFATER FH1 SR A arell AfGe3t H po &1 A1

PITTA?
\ X >
Total
(1)
Day A’c.’f. MR people A.135
visited visited .

B.435

Sunday 20% 250
Tuesday | 35% 100 C.335
Friday 75% 120 D.235
Saturday 65% 300 E.NOT




Three workers A, B and C started working on a construction field. Worker A can
do the job in 25 days while B is 25% more efficient than A and C takes 80% more

time than the time taken by A and B when working together. If together they

received 19,600rs for a week what is monthly salary of worker A?

di #ifdes A, B3R ¢ T fAAUT 817 W FHIH AT Y fhaT| ddhdT ADA & 25 et A
Y Fehdl & STdich B, AT Joldl H 25% 311Ah PAST & 3 CTh WY HIHA Hd FAT AR
BERT foIT a0 HHAT ¥ 80% 3 HAY ol &l IfG 3e¢ Th TG & fol 19,600 TUA UmH
§U §, ol AP AP ATGD delel &1 &2

(\_“_,ﬁA. Rs.1,68,000
[oheu)

B.Rs.30,000
C.Rs.24,000
D.Rs.1,50,000
E.Rs.8000




The ratio of the perimeter of the square and rectangle is 8 : 7. The difference

between the length and breadth of the rectangle is 4 cm. The sum of the side of .
square and breadth of the rectangle is 28 cm. Find the length of the rectangle ?

gaT 3R 3Id & URAY & IFJUTd 8: 7 &l AT &I s 3R s & d g &1 a4 T
T GO &7 oo AR 3mId T disls FH T 28 TH g AT H AFAS AT DA ?

(\‘ ,. :“_”ﬁ A.22 cm
/'— ~ /7 B.18 cm

C.16 cm
D.24 cm
E.12 cm



A train 150 m long overtook a woman jogging at a rate of 12 km/h, and passed her
in 15/2 seconds. Similarly, it overtook another jogging woman and passed her in

27/4 seconds. At what rate was the second woman jogging?

\
X

-~ A.4 km/

:

%
B.5 km/h
C.8 km/h
D.3 km/h
E.10 km/h




